
- (1) Driver Side Light Mount Bracket
(1) Passenger Side Light Mount Bracket

(2) 3” ZROADZ LED Light Pods

Z325711-KIT

Parts included

(4) - M6 x 25mm Hex Bolts
(4) - #10 9/16” Washers
(4) - M6 Stainless Stell Hex Nuts

(4) - #10-32 Nylon Nuts

(4) - “L Brackets“

(1) - Double Terminal Wiring 

Harness




